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(-8 = (4=
(-8)* +8=
(-7)* +6=
(—4) D — 5=
(2)-4=
(4+(3)=
(NP +(-9) =
(9 +(7) =
4—(-2)=

(—6)> — 10 =

30D+ (=5) =

10° +5 =

1072 — 6=

(-9 +(—4) =
(-10)77 + (-4) =
5 —(-1)=

(-9 +(-4) =
3 - (-1)=
(—4) D — 3 =

6> +9 =
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257 1
QYD —(—ay= 2Lyt
(8) T =)= =4
(-8)° +8=172
(=7)° +6=155

21 1
(-4 -5= 7)) =59

(2)-4=(-6)

(4)+(-3)= (-7)

34 (-5) = (+5) = (-43)
3 3
10° +5=16
599 99

2 _g=(—""")= (-5
10 6=( IOO) (5100)

(—9)> + (—4) = 77
10y & ety = (L Z 4 L
(—10)" +(=4) = ( o)~ o)

5 —(-1)=26

440 48 37 1
NV HEN=(55) = (85 (VA=) = (4)

566

O+ =

4—(-2)=6

(—6)* — 10 = 26

80
)=(627) - (=1)=10
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9D -3= (1) = (210)

6" +9=45
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